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Question Number : 1 Question Id : 793523301 Display Question Number : Yes Is Question
Mandatory : No

Options:
% k0B
- -
, % 217
3. 18
3. %
4. 19
4.

Question Number : 2 Question Id : 793523302 Display Question Number : Yes Is Question
Mandatory : No

1.8.27.64, 12

LN

; 2186,

Options :



% 2. 343
L x 3. 365

4. 400
4.

Question Number : 3 Question Id : 793523303 Display Question Number : Yes Is Question

Mandatory : No

A C. E. G, sl
Options :
v 11
2. % = H
3.6 3. J
4. M
4. ®

Question Number : 4 Question Id : 793523304 Display Question Number : Yes Is Question

Mandatory : No

AM. BN, CO. DP. . ER




Options :

o 1 oER
. % FT
3. GR
3. %
4. ER
4. %

Question Number : 5 Question Id : 793523305 Display Question Number : Yes Is Question
Mandatory : No

If POSTED is coded as DETSOP, then how will you code SPEED?
POSTED & DETSOP 1T &6 D003, o0& SPEED ooy 86 Dardy?

Options :

. » 1. DEEPS

, » 2. DEESP
3. DESEP

3. %

, « 4 SPEDE

Question Number : 6 Question Id : 793523306 Display Question Number : Yes Is Question



Mandatory : No

If SELDOM 1s CODED as 124 3 6 5 then how will you code MODE?
SELDOM & 124365 §6 T0HAS, & MODE Q der §6 Dardy?

Options :

e 13621

, x 2. 6231
3, 5632

3.¢¥

L x 4 6213

Question Number : 7 Question Id : 793523307 Display Question Number : Yes Is Question
Mandatory : No

Choice the word that is least like the other words in the group.

HDATEFOS R RS HITO STFOBT S0T HITR) DOHF0d.
Options :

1. Calendar

v SYalel«le)
2. Date
. 86



3. Day

e
4. Month
e

Question Number : 8 Question Id : 793523308 Display Question Number : Yes Is Question
Mandatory : No

Choose the pair in which the words are differently related
DTN D)) O OO0 ) 2306300 JOTNT 0B

Options:

1. Joule: Energy
_— ey S

2. Ampere: Current

0DCLO: B0

2. %
3. Angle: Degree
e0: B8
3. ¢
4. Pascal: Pressure
. T 2,835

Question Number : 9 Question Id : 793523309 Display Question Number : Yes Is Question



Mandatory : No

Giant:Dwarf:Genius?

ZBoNOL: MDD ET: DN?

Options :
1. Wicked
. T
2. Gentle
2. % RS
3. Idiot
QAHONE
3.¢¥

4. Cuming

E0°5a 0N

Question Number : 10 Question Id : 793523310 Display Question Number : Yes Is Question
Mandatory : No

Fruit:Banana:Mammal?

HO: 93¢3: 8 32507
Options :
1. Cow

28 eily)

1.4



2. Snake

6J°60)
2. %
3. Fish
- R
4. Sparrow
FOIRVRLS
4. %

Question Number : 11 Question Id : 793523311 Display Question Number : Yes Is Question
Mandatory : No

X and Y are brothers. C and D are Sisters. X' Son 15 D” brother, How 15 Y related to

C?

X 00 Y S0, C BN D Fdbenen. X Lrdd D

AN, Y § € & der 000 &od?

Options :

1. Uncle

00dHo
1.4

2. Grand Father

0& o0
2. % :
3. Father
el
3. %



4. None of the above

DoY) Sy

Question Number : 12 Question Id : 793523312 Display Question Number : Yes Is Question
Mandatory : No

E 15 the Son of A; D 1s Son of B. E is married to C, Cis the daughter of B. How is D
related to E.

E. A 50a00¢%; D, B G308} 20a0ed, E, € Q dararo Dendoae)ch, C
0308y 300 B. B & D § der 02040 08

Options:
1. Brother
- 2,8 PSSO
2. Uncle
90500
2. %

&

3. Father-in-law

- 0%
4. Brother-in-law
) v 2000008

Question Number : 13 Question Id : 793523313 Display Question Number : Yes Is Question
Mandatory : No



Rama travels a distance of 5 km in south direction. He turns to his right. After walking
3 km, he tuns to the left and walks 5 km. Now in which direction is he from the

starting place.

T 986 OIS 5 8o Brd0 (O, 09 B Kl F I
SOHTD. 3 8 AANS BATS, @B DTS SBA 5 8.
269 C0 @505 [2PE0% TR0 06 o) OIS Gy .

Options :
1. West
. PLUATSY
2. South
S8 e
2. %

3. South-West

)
3. ¢
4. North-East
&8F°050
4, %

Question Number : 14 Question Id : 793523314 Display Question Number : Yes Is Question
Mandatory : No

A person Goes a 1200 Mis long street in ten minutes what is his speed in kmph?
2,8 558 50 DTS’ 1200 Mts TS DO8 ITh 8 / Ko & wedd
S0 D0eh?

Options :
1.



1. 7.2 kmph
7.2 8.0 / 50

2. 8 kmph
8 8.2 / §0

3. 9 kmph
9 8.2 /0

4. None
4 % DA

Question Number : 15 Question Id : 793523315 Display Question Number : Yes Is Question

Mandatory : No

A 280 Mts train 15 moving at speed of 80 kmph. How much time 1t takes to pass a
bridge that 1s 120 Mits long.

280 Mts Ben 80 8 IH0S E0enS00. 120 Mts &¢a) K0 0BSD
TS D0 dH0 WEROEA.

Options:
L: 30 5ec
30 ED
| 30 r\}é )
2. A EeC
32 DEX
2. %



36 sec

fid

36 ED
4. 40 sec
40 DED

4, %

Question Number : 16 Question Id : 793523316 Display Question Number : Yes Is Question
Mandatory : No

The price of an item 1s increased by 20% and then decreased by 20%. The final prize
as compared to the original prize s

08 30 OO 20% NOA0H HOAH Shares 20% Sod. @
2:T00BSE FOQ B 2:T0NE

Options :

1. 20% less
20% 550709

2. 20% more

20% o050

3. 4% more

4% D800

4. 4% less
4% €550),09

4.¢



Question Number : 17 Question Id : 793523317 Display Question Number : Yes Is Question
Mandatory : No

An umbrella was sold at a profit of 20%. What is the selling price of umbrella if the
shop keeper procured at a cost of rupees 1807

2,8 TN 20%er2508 ABEom0oiaBG00d. Dserd 180 Srarade GéS
§effen T A @080 A8 06?7

Options:
L. 218
1. %
-
5 2. 260
3. 230
3. %
L 4 236

Question Number : 18 Question Id : 793523318 Display Question Number : Yes Is Question
Mandatory : No

Find simple interest on rupees 6250 at 14% per annum for 146 days

146 5220 2260 0N IT 14% T59) 6250 EFaroe) FErde SG
SN0

Options :

1. Rupees 350

350 A0Poraden
1.

2. Rupees 450
. 450 Sraro0en



(ad

Rupees 550

i 550 Soraraen
3.

4. Rupees 650
L 650 G0"or°OHEN

Question Number : 19 Question Id : 793523319 Display Question Number : Yes Is Question
Mandatory : No

If day before yesterday was Wednesday, then when will Sunday fall?

D) 00N B2 200 OB, SATH0 D)) SNOE?

Options :

1. 3" day after today
Ba523° BT 56 3 &S §e

1. %
2. Today
&a B2
2. %
3. Tomorrow
o3
3. %
4. A day after tomorrow
BNE3 Soeseb 2,8 O
4.

Question Number : 20 Question Id : 793523320 Display Question Number : Yes Is Question



Mandatory : No

What was the day of the week on May 28. 20077?
2 28,2007 &S B0 T2 Dae3?

Options :

1. Thursday

- HSardo
2. Friday
- DB B0
3. Saturday
FQ OO0
3. %

4. Monday
o0

4.+

Question Number : 21 Question Id : 793523321 Display Question Number : Yes Is Question
Mandatory : No

qih

It was Wednesday on 15% August 2012, what should be the day on November 15®

20137
36 15 85D 2012 2T E0, 9020 15,2013 B2 e Gowe)?

Options :

1. Wednesday
220050

2. Thursday
5 % HSardo



-

3. Friday
DB S0

3.¢

4. None of the above

s Sy

Question Number : 22 Question Id : 793523322 Display Question Number : Yes Is Question
Mandatory : No

Which of the following the diagrams indicates the best relation between a teacher.
writer and artist?

800 & DFFOBO Goreriond, G NOAM 575G DS
&S00 N0DOTTR) ATFRN0EH?

Options :

1. @
1.4

LD

I~

LD

1. ©o

4. %

Question Number : 23 Question Id : 793523323 Display Question Number : Yes Is Question
Mandatory : No



If one premise is negative, then the conclusion must be
2,8 85869 [DBETFOOMT GO, A0 DIV 0T

Options :

1. Negative

v (23507
2. Positive
- NEATAN

-y

3. Both Negative and Positive

10€355°) DB PNETE DO

4. Neither Negative nor Positive

1DBB B 9N I 520

Question Number : 24 Question Id : 793523324 Display Question Number : Yes Is Question
Mandatory : No

Honesty is the best policy because
D200 555 DTS00 ONEOD

Options :

1. Godrewards those who follow this maxim.

&8 Q0@ @DIBOT 08 Te)CH (DBINOO [ATCH.

2. It leads to recognition in the society.
2O D780 HB0HE TOSBN0H.



-

3. If facilitates cohesiveness in society

DATFB0S HEHD NOZBSE0 D

3.¥

4. Ttleads to material prosperity and spiritual awakening.

96 2R 080 0B B85 D 0% TOBN0A.
4, ®

Question Number : 25 Question Id : 793523325 Display Question Number : Yes Is Question
Mandatory : No

Synonym of Abysmal is.. R
€92)020 A8, @U*‘gotimcéo .........................
Options :

1. Deadful

FSVOINNIN

1.%

2. Awaful
- €938 O

3. Atrocious

PRI
3. %

4. All of them
RS RS ES

4.+



Question Number : 26 Question Id : 793523326 Display Question Number : Yes Is Question
Mandatory : No

Synonym of Contaminate is.............7
EeNNTPVE DTN D0 ... ?
Options :

1. Purify
- HO DONOS

2. Debase

3. Clean
3 % colkAlelan

4. Arrange
OISV
4. %

Question Number : 27 Question Id : 793523327 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following river flows between Vindhyan and Satpura ranges?
& 1808 SO B 0B LB AT B g
CANESRMOTAY,
Options:
1. Narmada

_— DB

2. %



2. Mahanadi

NVEOIS TR

3. Son
SRV

4. Netravati

IEINTE

Question Number : 28 Question Id : 793523328 Display Question Number : Yes Is Question
Mandatory : No

The Central Rice Research Station is situated in?

B0 58 DBFTAS 30(H0 NE)C SOH?

Options :

1.Chennai

- Q)
2. Cuttack
., 8eS

3. Bangalore

23009



4. Quilon

gt

Question Number : 29 Question Id : 793523329 Display Question Number : Yes Is Question
Mandatory : No

Who among the following wrote Sanskrit grammar?

80O 78S NDOXY Y a7 $EEE20 DID (T2

Options :
1. Kalidasa
. ST GO0
2. Charak
, 568
3. Panmi

4. Aryabhatt
e35523&

Question Number : 30 Question Id : 793523330 Display Question Number : Yes Is Question
Mandatory : No

Which among the following headstreams meets the Ganges in last?
2808 3T DA DB OISO ZeNN0E?



Options :

1. Alaknanda

- X350
2. Pindar
DOE0
2. %
3. Mandakim
- oNOT"E

4. Bhagirathi
aljlele

Question Number : 31 Question Id : 793523331 Display Question Number : Yes Is Question
Mandatory : No

The metal whose salts are sensitive to light 1s?
508 D) SO OB 5 oaT0?

Options :
1. Zinc
2208
1. %
2. Silver
2. DO



frd

Copper

o0

4. Aluminum

9T {00

Question Number : 32 Question Id : 793523332 Display Question Number : Yes Is Question
Mandatory : No

Individual prepositions are to be regarded as

03551965 | 8F22 AN DBNEF0I BT oM
Options :

1. Universal

ONTAID O
1.4
2. Particular
(DB
2. %

3. Negative

e3dr0
3. % )
4. None of the above.
, o) b ey @o‘"g}.

Question Number : 33 Question Id : 793523333 Display Question Number : Yes Is Question



Mandatory : No

“Some flowers Green™ 1s an example of
"SR, ad)od) §EN &85V )" 50 2,8 GO

Options :

1. Umversal affirmative

. ORFINEIS B9EBea

2. Universal Negative
) 0RO YD THE3D

2.
3. Particular affirmative

L 1358 D83
4. Particular Negative

» 10358 |De3rerch

Question Number : 34 Question Id : 793523334 Display Question Number : Yes Is Question
Mandatory : No

The average weight of 8 persons increased by 2.5 kg when person weighting 60 kg is
replaced by a new person. What might to be the weight of the new person.

60 380 2806909) 355 P06 €8 6958 510969 Ch0 8 606 HFEN )
2.5 85'0) A0, §6 o558 TE) 25 0 T,

Options :

1. 76kg
76 8¢S'en



2. 76.5kg

76.5 &S’ exn
2. ®
3. 80kg
80 §cS'en
3.¢
4. Data m adequate
\ BEF DO

Question Number : 35 Question Id : 793523335 Display Question Number : Yes Is Question
Mandatory : No

A car owner buys petrol at rupees 8 and rupees 10 for two successive years. What
approximately 1s the average cost per liter of petrol if he spends 4000 each year.

2,8 T8 ODBTR SAIT Bod Hod 1T DO Er.8 O
410 8 S0 T, @9 196 056150 4000 D) T OO
2SS DN A8 doeh?
Options :
1. Rupees9
1% 9 SO e

2. Rupees 9.90
9.90 &3rarrCHEN

-

3. Rupees 8.88

8.88 (oo O0eY)
3. ¢



4. None of the above

) e S

Question Number : 36 Question Id : 793523336 Display Question Number : Yes Is Question
Mandatory : No

What is freedom of religion? Choose one:

a5 0§29 OB DaDE3? 2,5¢3 DotHT 0!
Options :

1. You can’t choose the time you practice your religion.

DB QD TR B3IB0T DNAITR) JONT S

2. You must choose a religion.

- 2B €D IADBT 2,8 DTV V0N ).

3. You can practice any religion. or not practice a religion.

DA Q) DTA) WONT SIB0ID), B 2 HER)

SB0ETEHAD.
3.¢
4. No one can practice a religion.
DI EER) B0 SH.
4, %

Question Number : 37 Question Id : 793523337 Display Question Number : Yes Is Question
Mandatory : No



- Which of the following is described as the “Soul of the Constitution™?
806 73S DO T2 501 e3¢5) Q) SHQ0IDAR0E?

Options :

1. Fundamental Rights

QS °80.e0
1. %
2. Fundamental Duties
. EEROTAVERAIAVDY
3. Directive Principles of State Policy
O°[ D0 OBNE) BBED (BN
3. %
4. Preamble
N WICTAMN VI
4.¢

Question Number : 38 Question Id : 793523338 Display Question Number : Yes Is Question
Mandatory : No

The Preamble to the Indian Constitution 1s based on
2r 8¢ 0250050 D 0CNTE S0 ErePod0NGHOO

Options :
1. Philosophy of India
2> 5e5038 cheh 6B 0

2.



2. ‘Objectives Resolution” drafted & moved by Pandit Nehru
NOGE TV ArePoA 0NN '8PER ) BT

3. Indian Culture

2 B30 DO
3. %
4. Religious Concept
B0BSDEZS 275
4. %

Question Number : 39 Question Id : 793523339 Display Question Number : Yes Is Question
Mandatory : No

The term “We™ in Preamble means
SDONSTEST SN0’ @O HTVE @80
Options :

1. Indian Government

2565 2023065 50

1. %
2. Supreme Courts
. |20 Fexn
3. Indian Parliament
- 2r56% OO0

4.+



4. The People of India
2rOBTF (2300

Question Number : 40 Question Id : 793523340 Display Question Number : Yes Is Question
Mandatory : No

Indian Constitution ensures ‘Justice” in which of the following form

2865 5250150 80O B0 'T*s0H0' ATBN0E

Options :
1. Social
e as
1, %
2. Economic
esOF
2. % =
3. Political
Lx  OR8aD

4. All of the above
e PR

Question Number : 41 Question Id : 793523341 Display Question Number : Yes Is Question
Mandatory : No



Change passive voice to active:
Our task had been completed before sunset.

Options:

1. We completed task before sunset.

2. We have completed our task before sunset.

2. %
3. We completed our task before sunset.
3. %
4. We had completed our task before sunset
4.v

Question Number : 42 Question Id : 793523342 Display Question Number : Yes Is Question
Mandatory : No

Change active voice to passive voice
The boys were playing cricket

Options :

1. Cricket had been played by the boys.
1. %

. 2. Cricket has been played by the boys.
2.

3. Cricket was played by the boys.



{f 4. Cricket was been played by the boys.
4.

Question Number : 43 Question Id : 793523343 Display Question Number : Yes Is Question

Mandatory : No

Direct to indirect
I said to him. “Why are you working so hard?”

Options :

1. Tasked him why he was working so hard.

1.¢

2. Tasked him why was he working so hard.
2. %

3. Tasked him why had he been working so hard.
3. % ’

4. Tasked him why he had been working so hard.
4, %

Question Number : 44 Question Id : 793523344 Display Question Number : Yes Is Question
Mandatory : No

Direct to indirect
He said to her, “What a Cold day!™

Options:

1. He told her that it was a cold day.

2. He exclaimed that it was a cold day.
2.



3. He exclaimed sorrowfully that it was a cold day.

4. He told her that it is cold day.
4. %

Question Number : 45 Question Id : 793523345 Display Question Number : Yes Is Question
Mandatory : No

Our Sir Teaches mathematics English.
Options :
1. Across
1. %
2. Besides
2. &
3. Beside
3. %
4. Both

Question Number : 46 Question Id : 793523346 Display Question Number : Yes Is Question
Mandatory : No

Please. come the bath room.

Options :

1. Outof
1.¢



2. ‘Over

2. %
_ 3. On
3_ W
4. In
4, %

Question Number : 47 Question Id : 793523347 Display Question Number : Yes Is Question
Mandatory : No

Find the Antonyms for the word Beautiful

Options :

1. Wonderful

2. Graceful
2. %
- Terlsr
3 ¢ 3. L.L_I‘_‘y
4. Handsome
4, %

Question Number : 48 Question Id : 793523348 Display Question Number : Yes Is Question
Mandatory : No

Find the Antonyms for the word Terrible

Options :



1. Soothing

1. %
2. Frightening
2. %
3. Scaring
3. %
4. Horrible
4. %

Question Number : 49 Question Id : 793523349 Display Question Number : Yes Is Question

Mandatory : No

Find the Synonyms for the word Massive

Options:

1. Lumpsum
1. %

2. Strong
2. %

3 =« 3. Little

4. Huge

Question Number : 50 Question Id : 793523350 Display Question Number : Yes Is Question
Mandatory : No



Find the Synonyms for the word Differ

Options :

1. Indifferent

3. Defer

4. Postpone
4.

Question Number : 51 Question Id : 793523351 Display Question Number : Yes Is Question
Mandatory : No

Idioms and phrases: To keep one’s temper

FA0H) SDBA ND0TTEN: 2,80 JHeF) T CHE IFTVS

Options:

1. To become hungry
119l Wilelate

2. To be mn good mood

. H0D &S GoEE)

-

3. To be aloof from
Ao& ArSomr somee)



4. None of this
PTRTAVESH AN

Question Number : 52 Question Id : 793523352 Display Question Number : Yes Is Question
Mandatory : No

Idioms and phrases: To drive home
QABONN) DO DADOTTEN: QOE38 SBINTFTVE

Options :

1. To fine one’s roots

2,80 rererdd 8 ORE 8

1.%

2. To return to place of rest

) V(B0 (DB FVE SO T°IFVE
2.
3. Back to original position
90N Yo 380 30,y

3. %

4. To emphasize
y v Q 8). W )T 8

Question Number : 53 Question Id : 793523353 Display Question Number : Yes Is Question
Mandatory : No



Idioms and phrases: Dowry is no longer permitted by law even in
marrage.
AN OO HBVOTTEN: DaFFolS §rE 58800

200 T°50° @900 0TIAEGC.

Options:
1. Love

=5,
1 [ edodd

2. Conventional

QOO
2. %
3. Natural
- Qa2 D B
4. Bigamous
A
4, %

Question Number : 54 Question Id : 793523354 Display Question Number : Yes Is Question
Mandatory : No

Idioms and phrases: Family planning 1s essential for curbing the rapid
in population.

2BAND) HOAD HEV0TTON; 2SS0 D
905OTAE H1EN02 (DEFPE ©93080.

Options :

1. %



1. Spread

IS
2. Increase
RDOVOEG
2. ¥
3. Spurt
EB00NZN0A
3. %
4. Augment
ISP
4, %

Question Number : 55 Question Id : 793523355 Display Question Number : Yes Is Question
Mandatory : No

Select the pair which has the same relationship.

LIGHT : BLIND
2,8 DODOGT) OB 5 265 DOTNTOA.
5°0e3: 2305

Options :

1. Speech : Dumb

v DONO: 0305

2. Language : Deaf
270 TS



-

3. Tongue . Sound

_— orend: 5
4. Voice - Vibration
DONN: 3B
4, %

Question Number : 56 Question Id : 793523356 Display Question Number : Yes Is Question
Mandatory : No

Select the pair which has same relationship.
GRAIN: SALT

2,8 DODOR0 €Y) 236500 DOTNTO.
(TON®: o))
Options :

1. Shard . Pottery
arO: 505320

2. Shared - Wood

220 F0d
2. %
3. Places - (Grass
Qeren: G
3. &

4. Chip - Glass

W TP
4.



Question Number : 57 Question Id : 793523357 Display Question Number : Yes Is Question
Mandatory : No

The 1deal of Justice (Social, Economic and Political) i the Preamble draws its
inspiration from

203 20 [Feiry, 08 oo oadoh) Bl sddo
08 8 Fod0d

Options :

1. Russian Revolution
&% § D 5 S:Q_ a0

1.4
2. American Civil War
DO DO 7D
2. %
3. French Revolution
0D 2)0ded0
3. %
4. Japanese Constitution
22D 023080
4, %

Question Number : 58 Question Id : 793523358 Display Question Number : Yes Is Question
Mandatory : No



The 1deals of liberty, equality and fraternity in the Preamble have been taken from
B WD), DSBS AerSyBio TE) SdTeN
06 ST

Options :

1. French Revolution

0D a)adedO

1. ¢
2. Russian Revolution
G50 D)0
2. %
3. American Civil War
eIDAER VDO 7O
3. %
4. None of the above
200 A B
4, %

Question Number : 59 Question Id : 793523359 Display Question Number : Yes Is Question
Mandatory : No

The local team scored three goals the first half of the match.
Options :
1. At



2. %
3o S In
4% 4 On

Question Number : 60 Question Id : 793523360 Display Question Number : Yes Is Question
Mandatory : No

The staff co-operated the management to increase the protectivity.

Options :

1. With

Question Number : 61 Question Id : 793523361 Display Question Number : Yes Is Question
Mandatory : No

Symptoms of COVID-19
DG -19 © & saren



Options :

1. Fever
- 23 €50
2. Cough
T
3. Loss of smell
- TS ES %0
4. All the above
NI
4.

Question Number : 62 Question Id : 793523362 Display Question Number : Yes Is Question
Mandatory : No

A three-judge bench headed by justice A.M. Khan Wilkar delivered verdict on which
case by 2: 1 majority?

200 AM 27 D00 Debyeh oS DB wesahsrde o o
TS 2 1 oS o) am)®?

Options :

1. Hathras Case
SPER 30

2. Central Vista Project Case

OO DT |TBS T

2. ¥



-

3. Ayodhya land case

TS 257 T

4. COVID-19 vaccination case
COVID-19 é35° B

Question Number : 63 Question Id : 793523363 Display Question Number : Yes Is Question
Mandatory : No

A habitat 1s
QT PO

Options:

1. An area in habituated by the communaity.
QOO TN DA | 0e50.

1. %
2. A small past of Eco-system.
- DT5IGED 0950980 ABNEY DY) Kedo.
3. A particular area m habited by plants and animals.
R0E200 OO BOAYEN ANV 28 A (JF050.
3.¢

4. The number of different organisms living in a specific area.
DB (050 DSV, DN Beyed Do,
4. %



Question Number : 64 Question Id : 793523364 Display Question Number : Yes Is Question
Mandatory : No

All the energy in the food chain originates from
35553 eSS’ 38 @oer &)

Options :
1. Plants
S8 en
1. %
2. Sea
5 % NI [ale
3. Sun
- Q30 £

4. All of these

ZINFARY
4. %

Question Number : 65 Question Id : 793523365 Display Question Number : Yes Is Question
Mandatory : No

Intake of lead may primarily cause damage of the
D0 BFHB0 (DTS 3320)€3309T.)

Tt

Options :

1. Brain

DA

1.¢



2. Lung

eoOedeen
2. %
3. Liver
w00
4. Kidney
PP ()

Question Number : 66 Question Id : 793523366 Display Question Number : Yes Is Question
Mandatory : No

The main pollutant of the Indian costal water 1s
2565 3550 e (DTS TPenN S 57580
Options :
1. Oil spills
2300 Doen

2. Municipal sewage

SNDADDD SNBRHAED
2. %
3. Industrial effluents
BTN E S5T7en
3.¢
4. Aerosols

DOFS )



Question Number : 67 Question Id : 793523367 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s not an example of natural disaster?

808 57365 DO (D59 SHBTEIE S TrerSed SEN?

Options :

1. Tsunami
- BN

2. Heat Waves
2 SS0omen

Nuclear accident
EOED (DO

fad

3.¥

4. Epidemic
0N O

Question Number : 68 Question Id : 793523368 Display Question Number : Yes Is Question
Mandatory : No

Vermicomposting 1s a method of composing that mvolves.

5650800 ©RO $0¥E T DO, 20 S0EN0B.

Options :

1. %



1. Silk worms
HEY HSothen

2. Earth worms

"o e e
2. ¥
3. Bactria
aj°§6<:ii5°
3. %
4. None of these.
L. D8S D6 BN

Question Number : 69 Question Id : 793523369 Display Question Number : Yes Is Question
Mandatory : No

ICT stands for
ICT @®0T)

Options :
1. Information and Communication Technology

06357237 H0 DB EaEATAM BIS*) 0222

1.¢

2. Information Controlled Technology

23)VINS Zo(E5O Basey el



3. Information Cable Technology
RAIVAS TS BI5e) 028

4. None of the above.

DR oJa) Sl

Question Number : 70 Question Id : 793523370 Display Question Number : Yes Is Question
Mandatory : No

The pioneer organization in personal computer industry?

5587565 B0y 53D HBFNES SO 3 )8 HOD?

Options :

1. IBM
1.¢

2. Apple
- SO

3. Compaq

508
3. %
4. Infosys

Question Number : 71 Question Id : 793523371 Display Question Number : Yes Is Question
Mandatory : No



The computer memory used for temporary storage of data and Programme is called.
BET OO (T GE) @@ 0% A6 § FV0 GIOFA0D §0sy75ed

AN @0r.

Options :

1. ROM

2. RAM
2. ¢

3. EROM

4. EPROM
4. %

Question Number : 72 Question Id : 793523372 Display Question Number : Yes Is Question
Mandatory : No

The moment started to save trees
B TIPHEI0 @R QN0

Options :

1. Chipo moment

Q&P GO0
1.4
2. Appiko moment
D)
2. %



3. Save silent valley moment

Q%72 SAH VS DANOA &DNO

4. Basel convention
O DT

Question Number : 73 Question Id : 793523373 Display Question Number : Yes Is Question
Mandatory : No

The chief source of political power in India is

2r 3505065 0723805 ¥88 DTS Sre>0

Options:
1. The people

_— (8023E0

2. The constitution

o)r~ivelsle)
2. %
3. Parliament
- TOIOE
4. The parliament and the state legislatures
OO0 sDBO T8 FT°RDDZIEN
4, %

Question Number : 74 Question Id : 793523374 Display Question Number : Yes Is Question



Mandatory : No

The Indian constitution closely follows the constitutional system of

206 U500 UPR500 )59 N ANGT 90BN
Options :
1. USA
1. %
.o 2 UK

-

3. Switzerland

- VSO0 06
4. Russia
Oaxg
4, %

Question Number : 75 Question Id : 793523375 Display Question Number : Yes Is Question
Mandatory : No

What is number of fundamental rights in our constitutions

S0 T°2 0O [BPGNE 50 DO OES?

Options:
1. B
s
1.4
2. Eight

NIV @)



3. Ten

3 % s
4. Twelve
L x D)0

Question Number : 76 Question Id : 793523376 Display Question Number : Yes Is Question
Mandatory : No

Vice President of India presides over
2> 565 BT a2 ed €958 €5 3T (D
Options :

1. House of people
(09230 QN

1. %
2. Raj Sabha
0°2350023
2. ¢
3. Both (1) and (2)
(1) SHOTW (2) BT
3. %

4. Union cabinet

3013 HDoeB3H00



Question Number : 77 Question Id : 793523377 Display Question Number : Yes Is Question
Mandatory : No

Panchayati Raj was introduced in
HOTTANSBT O TR0 |HIFDLDR0D?

Options :

1. Rajasthan

O°230°®
1. ¢
2. Gujarat
o
2. %
3. Uttar Pradesh
- &BS (DDT
4. Bihar
4. % égjsé

Question Number : 78 Question Id : 793523378 Display Question Number : Yes Is Question
Mandatory : No

The right to Education Act came in to force in the year.

DTS 5T DO 09655065 e950eNE & D08
Options :
1. 2008
1. %

2. %



-9

2009

2010

[ %]

3.¢

4. None of the above
oY S

Question Number : 79 Question Id : 793523379 Display Question Number : Yes Is Question
Mandatory : No

Total number of districts in Andhra Pradesh
i ~ o
SODNTE S BNBO B SOV

Options:

Question Number : 80 Question Id : 793523380 Display Question Number : Yes Is Question

Mandatory : No



Before Hyderabad was maid capital in 1956, which city was the capital of Andhra
Pradesh.

1956 S T THTAT DS 0o, & S0 sodNDs
OB,

Options:

1. Warangal

SO
1.%
2. Vijayawada
22300 Cd
2. %
3. Visakhapatnam
TP OEIN O
3. %
4. Kummool
E&7) e
4.

Question Number : 81 Question Id : 793523381 Display Question Number : Yes Is Question
Mandatory : No

Who was the first person to translate Mahabharata into Telegu language?
PSR, SEND 27N E @ SIB0DND F0EES 6358 DeISd?

Options :

1. Pothana
ENEETN



2. Tikkana

- 382
3. Nannayya
D) OGNS
3.¢
4. Vemana
Lx B0

Question Number : 82 Question Id : 793523382 Display Question Number : Yes Is Question
Mandatory : No

What are the components of a political party?

o380 20 TwE), 2mren De3?
Options:

1. Leaders
orOn30en

2. Active members

IBOSrRe> H2H5en

%
3. Followers
. NI EN
4. All
9N

4.+



Question Number : 83 Question Id : 793523383 Display Question Number : Yes Is Question
Mandatory : No

Which party 1s oldest political party in India?
2 ESHTFOS QR HT°ehS T°38AD a0 DE?

Options :

1. Indian national congress

- 23 5eh 237e3 D SleIAEN
2. Bahujan samaj party

- 25702 DS O
3. Bharathiya Janata party

- 2P Be30% 235e ir@
4. Communist party

E0°5 R >0
4. %

Question Number : 84 Question Id : 793523384 Display Question Number : Yes Is Question
Mandatory : No

In which year did the word ‘sustainable development’ come into existence?
VEZ 98590 OF HA0 &) 0535506 BAESE SO Y0E?

Options :

1. 1992



2. 1978

2. %
3. 1980
3.v
4. 1987
4, %

Question Number : 85 Question Id : 793523385 Display Question Number : Yes Is Question
Mandatory : No

The society acknowledged and approved sexual between two idividual is known as.
A0 S0 Hess BoAS HooTR) VB0 HB0N0E HON
SO0,

Options :
1. Family
F0EN0DO

2. Marriage

e
2.
3. Kindship
alowy
3. %

4. Procreation
HOTPS'eS Yed



Question Number : 86 Question Id : 793523386 Display Question Number : Yes Is Question
Mandatory : No

In Ancient India the most popular form of family was

SO arEBDI0S 6506 |9er3%e) FOON 3020

Options:

1. Joint family
500G 000

1.¢
2. Nuclear family
. £ S0EN 00
3. Matrilocal family
2°€5 002008 S0EN0D0
3. %
4. None of the above.
L DD D B

Question Number : 87 Question Id : 793523387 Display Question Number : Yes Is Question

Mandatory : No

Which India academy 1s promoting dance, drama. and music?
2 27365 @5 haD €50, TEE0 OO JoAER) (86 1orT0H?

Options :

1. %



1. Sahitya Academy
P ereh s €95PCHaD

2. Lalit Kala Academy
S Eg 95D

2. %
3. National school of drama
FANO ) S e (@
3. %
4. Sangeet Academy
" HOAES 5 CHaD

Question Number : 88 Question Id : 793523388 Display Question Number : Yes Is Question
Mandatory : No

Which classical dance form 1s famous in Tamil Nadu?
HSNFT D (HVE TOAN & TR Sehs EreI0?

Options :

1. Kuchipudi

v ENR AN e

2. Mohniatlam
[er) @EF0

2. % '



-

3. Bharatanatyam
20O

4. Kathakali
8

Question Number : 89 Question Id : 793523389 Display Question Number : Yes Is Question
Mandatory : No

Historical Chandragiri Fort is located in which of the following states?
BE@red8 01300 §e) 806 T3S Q) 070 GOA?

Options :

1. Andhra Pradesh

Zlellaltint]
1.9
2. Karnataka
- SIORATS
3. Maharashtra
- oo O o)
4. Telangana
SO
4, %

Question Number : 90 Question Id : 793523390 Display Question Number : Yes Is Question



Mandatory : No

In social case work interview 1s an important?

FsrRE B0 HAS, 9oeET £5 .8 DS @odo

Options :

1. Tool

OO0

1. %

2. Method
20 DRS

3. Techniques
- ARMNEN

4. Principle

4% Q€50

Question Number : 91 Question Id : 793523391 Display Question Number : Yes Is Question
Mandatory : No

Who among the following has given the structural view of the society?
806 73 Deira0 BE) AT ered 8 98 EroiT) DSdd AT )K?

Options :

1. Durkheim
S5DS)

2. ¥



2. Gidding
AGoh

-

3. Maclever

NEINTe)

3. %
4. Cooley
L 5B

Question Number : 92 Question Id : 793523392 Display Question Number : Yes Is Question
Mandatory : No

Pick the correct order of the stages in the development.

29SS BFe> BWNEY OB BATF) Do A,
Options :

1. Repression. denial. projection. isolation.

D65, 330569, |FPBER. 2,0886550.

1.%
2. Oral, and phallic, latency. genital.
2,88, HBAW FFEE, 2°D50, BADOIOCD.
2. &
3. Birth. child. adult. die.
Lx 8000, DG, ST, HEEFTC.



4. Phallic. oral, latency. genital.

O, 33, 27D50. BIROIOAD

Question Number : 93 Question Id : 793523393 Display Question Number : Yes Is Question
Mandatory : No

Social policy is concerned with
7228 )P 8 D0220H0IE

Options:

1. Intervention of Government and other organization to meet Human needs.
X709 NNT O B8 IFE 292506550 HBA DS N0 EEs0.

1.4
2. Industrial development.
B B8 92)6598.
2. %
3. Political development
0°2380% 2)dyD
3. %

4. Economic development
SISEARRIA

Question Number : 94 Question Id : 793523394 Display Question Number : Yes Is Question
Mandatory : No



Which of the following 1s a secondary group?
20O ¢3S DO B LBOH D07
Options :

1. Nuclear family
(SI2AVENIAVOrAe

1. %
2. Peer Group
2B (°%
2. %
3. Association
OFVADAD
3.¢
4. Joint family
. C5o0 23 B0EN0O0

Question Number : 95 Question Id : 793523395 Display Question Number : Yes Is Question
Mandatory : No

The basic objective of group work is?
DT DA ABNEY (PN E 3§ 507
Options :

1. Personality development
335865 ¢ D50



2. Problem solving.
QoD DBX). B0

-

3. Readjustment

593(655553%):’55%
3. %
4. Remediation
DO
4, %

Question Number : 96 Question Id : 793523396 Display Question Number : Yes Is Question

Mandatory : No

Government of India mtroduced community Development Programmes in India first
time on

2P0 D200 IVABTFOT 2rESTI0S LXmAS BIODR0E
DO ST E0O

Options :

1. 1950
1. %

2. 1952
2. &

3. 1957
3. %

4. 1969



Question Number : 97 Question Id : 793523397 Display Question Number : Yes Is Question
Mandatory : No

“Conscientization Model” of social action speaks about

Tars W05 o) "sdRr)§Ede  Srcd" HB0Y)
TR
Options :
1. Educate
250
1.¢

2. Sensitize

ENARTATA
2. %
3. Empower
OO
3. %
4. Dictate
. DBR0TH

Question Number : 98 Question Id : 793523398 Display Question Number : Yes Is Question
Mandatory : No

Who appoints the Election Commissioner?

D)5 EAANDD DI QAN E?

Options :

1. %



1. Chief Election Commissioner

12T° D) 80 AN

2. President of India

2065 T aaaded
2.
3. Prime Minister of India
2> O65 (DT DO
3. %
4. Parliament of India
. 2565 rODOE

Question Number : 99 Question Id : 793523399 Display Question Number : Yes Is Question
Mandatory : No

Which article of the Indian constitution says that there will be election commission in
India.

2756 Ter0606'R o) 8055 erdSD50S IR0 NS G0tN0dA
BTS00,

Options:

1. Article 124
388 124

2. Article 342
388D 342



3. Article 324

Lo 8085324

4. Article 115

308D 115
4, ®

Question Number : 100 Question Id : 793523400 Display Question Number : Yes Is Question
Mandatory : No

Election for Lok Sabha are held every

(63 S'S D255 D) Een 2B HEron

Options :
1. 3 vyears
3 D0EHYTPOHE
1. %
2. 4 years
4 5055 T8
2. %
3. 5years
_ 5 00655 YOO8
4. 6 years

6 D0SEH YO OB



